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#include <stdio.h>

int main(void){
int hoge;

hoge=246;
printf("O00 00 %d OO0 \n",hoge);

return 0;

}
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char c, h, moji;

int i, j, seisu;

double x, y, jisu;
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#include <stdio.h> #include <stdio.h>
%*:AIEE int main(void) {
int main(void) { THES
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return O; return O;
} }
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#include <stdio.h>

int main(void){

char ¢, h; // 00000000
int i, j; // 00000000
double x, y; // 00000000000
c = 7a7;
h — 7A7;
i = 123; // 0000000
j = —987654321;
x = —1.23456;
y = 9.87654321e—12;
printf(?c = %c \t h = %c\n”, ¢, h);
printf (71 =% \t j = %d\n”, i, j);

= );

printf (?x = %e \t y = %e\n”, x, y

return 0;
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int i[10], j[100][100];
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int hoge_1[100], hoge_2[100] [100], hoge_3[100] [100] [100];
double huga[10], huge[10] [10], hugo[10] [10] [10];
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#include <stdio.h>

int main(void){
double a[3][3],b[3],c[3];

a[1][1] = 1.5; S+ 000000000 +/
al1][2] = 2.6

al2][1] = —6.3;

al2][2] = —0.58;

b[1] = 28.5; S+ 00000000000 */
[2] = —19.1;

c[1] = a[1][1]*b[l]+a[1][2]*b[2]; /+ OODOOOOOOO #/
c[2] = al2][1]b[1]+a[2][2]+b[2];

printf(”c[1] = %e\n”, c[1]); /+ 0000 x/
printf(”?c[2] = %e\n”, c[2]);

return 0;
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#include <stdio.h>

int main(void){
double a[3][3],b[3],c[3];
int i,j;

[\
oo

.5
—19.1;

]
b[2]
for (i=1; i<=2; i++){

for (j=1; j<=2; j++){

cli] +=ali][jl*b[j];
}

printf(”c|
printf(”c|

N =

return 0;
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#include <stdio.h>

int main(void){

int usagi[100]; // 0000000

int tuki; // 000000000000
usagi[0]=1;

usagi[l]=2;

for (tuki=2; tuki<37; tukit++){
usagi[tuki] = usagi[tuki—1] + usagi[tuki —2];

printf(”after 1 year : %d\n”, usagi[12]);
printf(”after 2 years : %d\n”, usagi[24]);
printf(” after 3 years : %d\n”, usagi[36]);

return 0;
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